R 63422

Fourth Semester B.Com. Examination, Sept./Oct. 2022
(CBCS)
COMMERCE
Paper — 4.4 : Cost Accounting

Time : 3 Hours Max. Marks : 70

Instruction :  Answer should be written completely either in English
or in Kannada.

SECTION - A
QLN - &

1. Answer any five sub-questions. Each right answer carries two marks. (5%x2=10)
QIRRTTITR 2T V- T3t wugor. B3 o YUBTE QTR e50Fried.

a) What is machine hour rate ?
0008, Rot303 BT omded 9
——S '1—-1.,‘\

b) What do you mean by abnormal loss ? P e ]
AT TG 20TTed 9 A= 2N

¢) What do you mean by cost ? ' 5
a”zi Q0BT ? '

d) What do you mean by direct material ? NG
3B 7N, DOTTERd 9 e, .

e) What do you mean by over time ?
207 ;J’daccbwdg{ Sty

f) Write any four items of selling and distribution overheads.
SR BB HBTED BoedS, w¥ron cdnmemde T, NVTPBTE TR,

g) What is memorandum reconciliation account ?
B0TRET,0BEDT* BROWIESE 303 oB3ER 9

SECTION -B
NYIIN - VW

Answer any three questions. Each right answer carries six marks. (3x6=18)
OIRF)TTAR Tt BIROT Lvzor. e Ko YUBTY, T e203RD.

2. State the important functions of cost accounting.
=, FBTOREI BaRoed zmcgsrf@’dg( PR,

P.T.O.
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3. M/s Varsha Co. manufactured and sold 6000 sewing machines in the year 2021.
Raw materials ¥ 6,00,000
Direct wages ¥ 4,80,000
Manufacturing expenses 3,00,000
Factory overhead 50% of wages
Office overheads 10% of factory cost
Selling overheads X 20 per unit sold
All machines were sold for ¥ 21 ,00,000.
Prepare cost sheet.

M/s Sair 2050 Oaotin 202189, 6000 ERON 0303, BOIRO oWrlsiaplel

8o, MR % 6,00,000
3e3 RowRd ¥ 4,80,000
VT %, % 3,00,000 .
FTF S ToeeD e Woeseddd Be. 500R), P N

Fe3e003) 30e dzs’uﬁaasa?ﬁ aﬁzédcﬁ Be. 100,
SRoows sdeen 88,3 20 B 0P i
@@amobogﬁ#ag ¥ 21,00,0008, 003 BRBEONT. :
3303, Te3000RY 3037R0R. e

-

4. Calculate, re-order level, minimum level, maximum level and average stock
level from the following information.

Normal usage — 900 units per week
Maximum usage — 1350 units per week
Minimum usage — 300 units per week
Re-order period — 8to 12 weeks
Re-order quantity - 7200 units

B0RIBLROND ; PYSO® ST 08, 6’2’0% =08, ﬁ@% ﬁ:%a’.o@_g ROORO TR aﬂa&}d,
2RoRL BPBoBOS.

ARRT, WPE _ 900 CHAVF N B wTE,
ﬁb%wﬁ% _ 1350 0RFR B3 WY,
R WS _ 300 0RNEFRY T3 WY,
Do BB ewwnd - 8 00z 12 0N

RI® TS BRIED — 7200 03 D
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5. Standard time allowed to complete a job is 25 hours. Hourly rate is ¥ 32, worker
Sandhya complete the job in 25 hours and Tanu completes in 35 hours. Calculate
the earnings of the workers under Halsey and Rowan plans.

WO FORBRO [PLOFRRYILL INDTRIT &7 Fe003 25 Notdny. o8 notdn
Roeip0 T 32. Ko, 33 SURTR) 25 HoKndd ) 3 35 oRam 35 ﬁowmﬁ@
TREF RPRIZT., dommag ﬁawabcdaab amﬁ odmenss daéa SRR c3nens kel
FOBRODBOWD.

6. From the following information compute a machine hour rate of machine no. 7
for the month of December.

Cost of machine ¥ 48,000

Estimated scrap value ¥ 3,000

Repairs and maintenance for life of machine ¥ 3,750
Effective working life 15000 hours

Power consumed by machine @ ¥ 0.45 per unit — ¥ 900
Standing charges for the month of December ¥ 600

iR e machine consumes 10 units of power per hour.

é% %em @IEd0N00T3 010, So. 7 B 03003, ot TBR) BReeIT* Soned) FomEEOO.
Q‘bo@’cf W) dn’ao % 48,000
' ,-Eﬁﬁm&%d zifada"?do w3e3 ¥ 3,000
o:ooga’ BEDTIBRODYT BT 03y VB X 3,750
03003,T edBomH FR 15000 roedned
ADOZT DTYEF ¥R 0.45 F& ol %303 900
RR0WT° 0N AR DWFN T 600
CeZR) Motdrt 10 odees® é)td%?%g O, WHRBT,

SECTION -C
QTN -

Answer any three questions. Each rlght answer carries fourteen marks. (3x14=42)
OINR)TTTR TR aa’é’rﬁ@:)ﬁ SUZOR. 3 KO ¢ védé aamm E90BNED.

7. Mamatha Ltd. uses Aluminum wire as a raw material which is purchased from
the market. The following particulars are available in respect of the transactions
for October 2021.

Oct. 1 Opening balance 750 kg at ¥ 62.5 per kg
Oct. 3 Purchased 1250 kg at T 65 per kg

Oct. 4 Issued 550 kg
QEL. 7 Purchased 500 kg at ¥ 64 per kg
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Oct. 10 Issued 1100 kg

Oct. 20 Purchased 590 kg at X 57.5 per kg

Oct. 22  Issued 400 kg

Oct. 25 Issued 900 kg

Oct. 26  Purchased 500 kg at ¥ 59 per kg

Oct. 27  Surplus 50 kg, returned to store out of quantity issued on Oct. 4.
There was a shortage of 30 kg on Oct 15.

Prepare stores ledger for these transactions under simple average method.

RoeT0 FoTR DT LAV0I0 FO RFR) 825 FOTOATIFRN TWRTTFENTY 20eD

20T, wERNIC 202180 Beds LR RO $980E08s,

©ERWO" 1 5008 &), 750 8.23. T3 8.28.711X 62.5

@EREIT 3 SD0ed 1250 8.23. T 8.28.3X 65

SLICRAOR eid 550 3.2 B
WBREVT 7 $0e 500 .23 T3 8.23.1% 64 P

eﬁﬁ%ewo‘ 10 ve@d 1100 3.22.

@irawewcﬁ 20 00eD 590 §.23. @’3 3..AXS75
e;aﬁ.rg;uo" 22 Qe&d 400 .22

e:aara&gucf 25 Qe@s 900 .22

eBRWT 26 20e¢0 500 3.23. =& 8.22.11T 59 e

wdReITT 27 5800 50 3.23. 0D 58Re0T° 480T) QeRFO0T S03TONTDNG.
98¢0 15 Bowd 30 8.23. FRECIRNT.

3 55008 TPE300T HO8 KoHR0 TH3BaD KON B, BOIROR.

. From the following particulars calculate weekly earnings of a worker under :

a) Straight piece rate

b) Differential piece rate (Taylor)

c) Halsey plan

d) Rowan premium plan

Weekly working hours — 40, piece rate T 9, hourly rate of wages ¥ 23, normal
time taken per piece 15 minutes, normal output per week 150 pieces, actual
output of worker per week 180 pieces.

Differential piece rate :
a) 80% of piece rate for output below normal output.
b) 120% of piece rate for output above normal output.

4
A
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83 IYTOT ITNPOTE FORMWTT 5908 3RO, FOROEBONWO.

a) 3eg 2o o ﬁcé%odaoé

b) #0008 0 Bomd B8 Brdones

C) oY, odrezss T

d) SRS &eQ0030 03ReESe30E.

2000 0T BRT Rotdrish — 40, 20w @3 T 9, Rotdn 8e® 33 T 23, T Doart
QeRCdE MRRE FROcH 16 AT, T2 =03, MRRF, eSS 150 TeRonsR,

SRS AT PUBTs T0E 180 Hororied,

QDG B0 BT ;
a) 3e. 80 So3 270t BT re¢3 BorE1ROWO SpChiarvovel ﬁ—gamgy NVTTBN0B BRI
aBY,
b) 3. 120 dod B0 BOT Boeed FoR RO, Nchiataeven TOBNT, SVTTIN0Z
THRHTO,
B oM

~0. Prakash Ltd. furnish the following information for 15000 units of a product
manufactured during the year ended 31-3-22 -

3

Materials 1,35,000

/ Direct wages 90,000

/" Power and consumable stores 18,000
~ Indirect wages 22,500
Factory lighting 8,250

Cost of rectification of defective work 4,500
Clerical salaries and management expenses 50,250
Selling expenses 8,250

Sale proceeds of scrap 3,000
Repairs, maintenance and depreciation of plant 17,250

The net selling price was % 47.4 per unit sold and all units were sold.

As from 1-4-2023, the selling price was reduced to ¥ 46.5 per unit. It was
estimated that production could be increased in 2023 by 50% due to spare

capacity.

Rates for materials and direct wages will increase by 10%. You are required to

prepare :

a) Cost sheet for the year ended 31-3-2022 showing various elements of cost
per unit, and

b) Estimated cost and profit for Financial year 2022-23.

Assume that 22500 units will be produced and sold during the year 2022-23
and factory overheads will be recovered as a percentage of direct wages and
office and selling expenses as a percentage of works cost.
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10.

Fos® QatiE BTN 31 seers 2022 IRewrogg GuSINRE 15000 oLV RN
ROWORAT WIESOI B3 FPTOTOET

£4
TN 1,35,000
30 &R0 90,000
Niash-K BB WHFIRT RO 18,000
aﬂtﬁmﬁw\ VLIS 22,500
FSVF S DTN 8,250
dpemcd0g OB, TOCYRRPAT 3, 4,500
QWD dzﬁﬁ% daa’o rba’m,od owé 50,250
RI0OE ﬁa&’sﬁ% 8,250
BRI a‘baoa&s&)ocﬁ Reiaiasy 3,000
B0, AT o3 Re3TY (o:boao md@ ROLIODATI) ) 17,250

a)d e;? BT aﬁeﬂod:o 3 47.4 3@ odmmsw BB emm&)focﬂ DY, 03RAE® ned
aﬁmmumﬁﬁ

1-4-2023 00%3 RpToes W33 e 0dwedEr i X 46.5 gfa%eraﬁzﬁ ATOOT VDS

20230 O, o> M, F HoTN eusEEedy 3. 50 U eHRreR 20 //

e.eocsamemﬁd
RN, 233 T &ozed 3oL Be. 10 o), éz,aawﬁ@aﬂ.
B¢ BB SFOX NN SoIR0ORLO RRWAT.
a) 31- ;ims‘r—2022 3 ST oZ .3,5 03REF R BowoHRTOS ﬁuzis aﬁé%o:babﬂt
3030 Ebéo
b) 2022-23 ¢ &’safa:b SR, ROWORATS L30T 3323, W= Y3 TSI, 303708

2022-23 3¢ BeaTRO WO, em@moarbd DY 22500 mwm mmmﬁéd
QOT L0TTOBIRONTS. TS dsecﬁ ziﬁ#da 368 RoROI e 203 B¢Ied RT3
daec? zSn’eéab sﬁ*;r R, =0ee3 eﬁomz&oefoﬂd

From the following details, you are required to prepare a reconciliation statement
and also ascertain profits as per financial books.

Particulars 4 3
Cost Books Financial Books
1. Profit as per cost records L2875 ?
2. Value of opening stock 1,62,000 1,40,625
3. Value of closing stock 57T, 750 1,62,000

4. Interest on bank loan paid - 34,220
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5. Works overheads 1,28,438 1,35,000

6. Tax provision : - 80,157

7. Administration overheads 1,73,907 1,92,470

8. Loss on sale of machinery - 28125

9. Selling overheads 85,500 72,188
10. Interest on bank deposits received - 34,220
11. Depreciation = 1,17,845
12. Reserve for bad debts - 30,095
13. Stores adjustment (credit) in p/l a/c - 14,063
ENS DToNPes :353:‘33053 wégjabxgt B030R TN BEoTIRd cﬁﬁem:a’a &3 FY5oo cm;iaﬁd.gt

FOBOLROWD.

P~ oty (te) mi sa:;y = QT 6§m1% = Qe

. dzgd amrodamﬁdcsoé WoRTOE e 7,21,875 ?

. TR,008 RSB dae% 1,62,000 1,40,625

. 08T AT abe% 1,77,750 1,62,000

4 w088 Mo Soees TR WE - 34,220
N\ TOSTFS daecjsagd 1,28,438 1,35,000
G_:_ 301 QRS o : 80,157

7‘ SEYS d)eeg’szgd 1,783,907 1,92,470
8. ooy Rnoous S, - 28,125
9. Snoows 34, 85,500 72,188
10. 233,083 Seases soees 2o W& - 34,220
1. =389 - 1,17,845
12, 368 moE 30 - 30,095
13. oM Bromoesd @D?.;f—d% Eeniievels) (udm) - 14,063

11. Afirm has three production departments X, Y and Z and two service departments
A and B. The following figures are extracted from the books of the factory :

3 L4
Depreciation 12,000 Indirect wages 1,800
Lighting 720 Power 1,800

Rent 6,000 Others 12,000
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Other Particulars :

X Y Z A B

Floor space (sq.feet) 400 500 600 400 100
Direct wages (%) 900 600 900 900 700
Light points 20 30 40 20 10
H.P. of the machines i5 30 25 10 -
Value of the machinery (%) 12,000 16,000 20,000 1,000 1,000
Working hours 3113 2014 2033 s =
The expenses of service departments A and B are to be aliocated as follows -

X Y y4 A B
A 20% 30% 40% - 10%
B 40% 20% 20% 20% -

You are requested to distribute the service department expenses to the
production department (X, Y and Z) and calculate hourly rate of each production
department.

20T FLFHODE  Fowedd NTVTT RN X, Y =08) Z e 0@ Rewo
BB A 5033 B 23, 3913 w08 wosnva sanrsed FEEeon SEeheand,

L4 X
R3ge 12,000 Beires s 1,800°
Qerisd 720 etk 1,600
o 6,000 233 12,000
23S DI : NS T
X Y z A m——

o3 wr (350 wanvd) ) 400 500 600 400 100
33 Rowe0 ) 900 600 900 900 700
Qe osg, 20 30 40 20 10
0303 H.P. 75 30 - ol T
cHo3nd IR, (3) 12,000 16,000 20,000 1,000 1,000
3URE rotdnted 3113 2014 2033 - -
Rz EmAnvas A w33 Bry Dubrnea) 81 S8NIRneos Sowd SREONS:

X Y z A B
A 20% 30% 40% - 10%
B 40% 20% 20% 20% -

Reem QeI sdubr v eveam Qyen (X, Y &2 Z)nert Boudd mna @8 eues
QNN rots WIR) BordEBCI®.




